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Mark schemes are prepared by the Principal Examiner and considered, together with the relevant 
questions, by a panel of subject teachers.  This mark scheme includes any amendments made at 
the standardisation meeting attended by all examiners and is the scheme which was used by them 
in this examination.  The standardisation meeting ensures that the mark scheme covers the 
candidates� responses to questions and that every examiner understands and applies it in the 
same correct way.  As preparation for the standardisation meeting each examiner analyses a 
number of candidates� scripts: alternative answers not already covered by the mark scheme are 
discussed at the meeting and legislated for.  If, after this meeting, examiners encounter unusual 
answers which have not been discussed at the meeting they are required to refer these to the 
Principal Examiner.   

It must be stressed that a mark scheme is a working document, in many cases further developed 
and expanded on the basis of candidates� reactions to a particular paper.  Assumptions about 
future mark schemes on the basis of one year�s document should be avoided; whilst the guiding 
principles of assessment remain constant, details will change, depending on the content of a 
particular examination paper.
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Unit 1 
 

Criteria for Assessment 

The assessment objectives will be allocated in the following way. 
 

  % of 
AS 

Marks 

AO2 
AO3 

AO4 

Response to written language 
Knowledge of grammar 

Knowledge of society 

65 
25 

10 

65 
25 

10 

 TOTAL 100 100 

 
 

The marks will be allocated in the following way. 
 

 AO2 AO3 AO4 

Section 1 

Section 2 

Section 3 

27 

15 

23 

10 

 

15 

3 

 

7 
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Section 1 
 
1. paxI jIvn hE qe paxI bgEr jIxa ]sNBv hE / jIvn wa ]War hE/ mnu<Kqa wa ]War hE .  
  

 
izh isrP ip]as buJa[ux wa saWn hI nhIM sgoM mnu<K wI]A sarI]A lofA paxI nal hI   
jufI]A hozI]A hn . 

(2 marks each) 
4 marks 

2. paxI wa dra[uxa rUp hfH huNwa hE . (2)      kwe kwe qbahI mca[ux vale rUp iv<c peS huNwa hE (1) 
 
 izs nal bhuq icr pihlA bxI]A izmarqA, Gr ]qe icrA qoM vs rhe lok qbah ho jAwe hn .  

(2 marks for each point) 
4 marks 

3. globl varimNg wa . 
 jNmI]A hozI]A brPA iZ]awa ipGl jaxgI]A . 
 smNwr iv<cle paxI wa ql [u>ca ho javega qe   
 nIveM izlaik]A iv<c hfH bhuq ]a[uxge . 

(1 mark for each point - 4marks) 
4 marks 

4. paxI we im<Te sroqA iv<c Kara paxI iml javega . 
 smuNwrI Gah qe m<CI]A wI pEwavar qe ]sr hovega .  

 bhuq sare ]abawI vale tapU paxI iv<c du>b jaxge . 
(2 marks for each, any two points � 4 marks) 

4 marks 
5. nihrA we paxI wI pihlA vrgI shUlq nhIM hE . / wohA pais]A qoM s<tA Ka irha hE . (1) 
 sroq suNgfwe ja rhe hn qe mIMh G<t pEMwa hE. 

WrqI heTle paxI wa p<Wr nIvA ho irha hE .  
izs we is<te vjoM pNjab iv<c iksanI (KeqIbafI) vasqe bhuq Kqra ho skwa hE . 

(1 mark for each point � 4 marks) 
4 marks 

6. Biv<K iv<c pIx lzI SuW paxI na imlx wa Kqra ho skwa hE  
(1mark) 

pRIiK]arQI we ]apxe  DukveM ivcar ijveM ik 
 
paxI wI vrqoM iW]an nal krnI cahIwI hE . 
paxI nUN pRwUiSq hox qoM rokx vasqe yqn krne cahIwe hn . 
globl varimNg Gta[ux we yqn krne cahIwe hn .  

(Any three relevant points � 1 mark each) 
(1mark + 3 marks - AO4) 

4 Marks 
7. (i) Dih DerI kr jAwe hn 
 

(ii) iB]ank 
 
(iii) ]lop ho jaxge 
 
(iv) s<tA Ka irha hE  
 
(v) susq cal  
 
(vi) ik<lq   

(1 mark each) 
6 marks 

Total marks for Section 1 = 30 + 10 marks for Quality of Language (AO3) = 40 marks 
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Marks Knowledge of Grammar (AO3) 

0-2 Shows little or no grasp of grammatical structure.  Errors are such that 
communication is seriously impaired. 

3-4 The level of manipulation of structures and the number of errors make 
comprehension difficult. 

5-6 There is some awareness of structure.  There are still basic errors but 
communication is generally maintained. 

7-8 The manipulation of basic structures is generally sound.  There are attempts 
to use more complex structures, but not always successfully. 

9-10 The knowledge and use of most structures is good.  There are still some 
inaccuracies but these are usually in attempts at more complex structures. 
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Section 2 (Translation) 
 
We all need food to live and it is important that our food doesn�t make us ill.  Keeping the kitchen and 
utensils clean is an important part of food hygiene. All of us should learn about food hygiene. We should 
receive/have training so that the food we prepare is as safe as possible.  
 
Good habits will protect food from getting dirty/being contaminated. The kitchen must always be kept 
clean and tidy. It is extremely important to know how to clean everything properly so that it is safe to use. 
Food should be cooked properly to protect ourselves from any illness. 
 
 

Marks Response to Written Language (AO2) 

0-1 Little or nothing of merit. 

2-4 Shows poor understanding of the original and translated in a language that has 
a very limited range of vocabulary.  Errors in spelling, punctuation and 
grammar impede comprehension. 

5-7 Shows satisfactory understanding of the original and translated in a language 
that has a limited range of vocabulary.  Errors in spelling, punctuation and 
grammar are intrusive and affect comprehension. 

8-11 Shows good understanding of the original and translated in a language that has 
a wide range of vocabulary.  Accurate, with only a few minor errors in 
spelling, punctuation and grammar. 

12-15 Very good understanding of the original and translated accurately in a 
language that has a wide range of vocabulary.  Excellent spelling, punctuation 
and grammar. 

 
 Total marks for Section 2 = 15 marks 
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Section 3 
 

Marks Response/Knowledge of Society (AO2/AO4) 

0-5 There is little or nothing of relevance.  A zero score will automatically result in 
zero for the question as a whole. 

6-12 A limited number of points made, many of which are vague or irrelevant.  No 
justification for points made. 

13-18 Some relevant points are made, ideas are not clearly organised.  Some reaction 
is evident, but points made are not always justified or illustrated.  The answer 
generally lacks a clear focus. 

19-24 The answer is generally on the subject with a number of relevant points, but 
not always appropriately supported. 

25-30 Relevant points are clearly made.  The answer is focused on the question and 
offers ideas which are logically and clearly developed.  Good personal 
reaction, usually justified. 

 
 

Marks Knowledge of Grammar (AO3) 

0-2 Shows little or no grasp of grammatical structure.  Errors are such that 
communication is seriously impaired. 

3-5 The level of manipulation of structures and the number of errors make 
comprehension difficult. 

6-8 There is some awareness of structure.  There are still basic errors but 
communication is generally maintained. 

9-12 The manipulation of basic structures is generally sound.  There are attempts to 
use more complex structures, but not always successfully. 

13-15 The knowledge and use of most structures is good.  There are still some 
inaccuracies but these are usually in attempts at more complex structures. 

 
 

Total for Section 3 = 45 marks 
 

Total for Unit 1 = 100 marks 
 


